N of associated (recoToSim) looper tracks vs normalized x*

N of associated (recoToSim) tracks vs normalized X?

[N of reco track vs normalized x2 ]

%] 1%} - P 123 0
x x < x
[=} Q o (5]
g g g 8
) s 2 E
2 s 8107
=
=]
o
=] e =] S
T I T T
4 o4 o o
0'“(J24382|012141(>1820 8 10 12 14 16 18 20 0'“(J2438]01214161823 C02468101214161820
track x2 track x2 track x2 track x?
——=—— DOM_TT__Original_Towpt
N of reco track vs.{ ——e—— DQM_TT__Original-pLess_lowpt
2 L L2
8 g g
§ 10° %
=] o =]
T I T
4 o4 o




	Contents
	Page 1


